Title: Prolog Assignment #2: Pokemon

Abstract:

Pokemon and List Processing



Task 1:

Code:

%
%
% --- File: pokemon.pro

% --- Line: Just a few facts about pokemon
%

%
% --- cen(P) :: Pokemon P was "creatio ex nihilo

"

cen(pikachu).
cen(bulbasaur).
cen(caterpie).
cen(charmander).
cen(vulpix).
cen(poliwag).
cen(squirtle).
cen(staryu).

%
% --- evolves(P,Q) :: Pokemon P directly evolves to pokemon Q

evolves(pikachu,raichu).
evolves(bulbasaur,ivysaur).
evolves(ivysaur,venusaur).
evolves(caterpie,metapod).
evolves(metapod,butterfree).
evolves(charmander,charmeleon).
evolves(charmeleon,charizard).
evolves(vulpix,ninetails).
evolves(poliwag,poliwhirl).
evolves(poliwhirl,poliwrath).
evolves(squirtle,wartortle).
evolves(wartortle,blastoise).
evolves(staryu,starmie).

%




% --- pokemon(name(N),T,hp(H),attach(A,D)) :: There is a pokemon with
% --- name N, type T, hit point value H, and attach named A that does
% --- damage D.

pokemon(name(pikachu), electric, hp(60), attack(gnaw, 10)).
pokemon(name(raichu), electric, hp(90), attack(thunder-shock, 90)).

pokemon(name(bulbasaur), grass, hp(40), attack(leech-seed, 20)).
pokemon(name(ivysaur), grass, hp(60), attack(vine-whip, 30)).
pokemon(name(venusaur), grass, hp(140), attack(poison-powder, 70)).

pokemon(name(caterpie), grass, hp(50), attack(gnaw, 20)).
pokemon(name(metapod), grass, hp(70), attack(stun-spore, 20)).
pokemon(name(butterfree), grass, hp(130), attack(whirlwind, 80)).

pokemon(name(charmander), fire, hp(50), attack(scratch, 10)).
pokemon(name(charmeleon), fire, hp(80), attack(slash, 50)).
pokemon(name(charizard), fire, hp(170), attack(royal-blaze, 100)).

pokemon(name(vulpix), fire, hp(60), attack(confuse-ray, 20)).
pokemon(name(ninetails), fire, hp(100), attack(fire-blast, 120)).

pokemon(name(poliwag), water, hp(60), attack(water-gun, 30)).
pokemon(name(poliwhirl), water, hp(80), attack(amnesia, 30)).
pokemon(name(poliwrath), water, hp(140), attack(dashing-punch, 50)).

pokemon(name(squirtle), water, hp(40), attack(bubble, 10)).
pokemon(name(wartortle), water, hp(80), attack(waterfall, 60)).
pokemon(name(blastoise), water, hp(140), attack(hydro-pump, 60)).

pokemon(name(staryu), water, hp(40), attack(slap, 20)).
pokemon(name(starmie), water, hp(60), attack(star-freeze, 20)).



Queries:



?— consult( ' pokemon.pro’).
true.

?— ceni(pikachul.
trus.

?— ceni{raichul.
false.

?— cen(CEH).

CEH = pikachu
CEN bulbasaur
CEH caterpie ;
CEN charmander
CEH vulpix

CEN poliwvag
CEN zquirtle
CEH starvyu.

?— cen(CEN) .write(CEN) nl.fail.
pilkachu

bulba=zaur

caterpie

charmander

Tulpix

poliwag

=quirtle

ztarvu

falze.

?— evolvesi{sguirtle,vartortle).
trus=.

?— evovles({wartortle,squirtle).
Correct to: "evolvesi(wartortle.sguirtle)"? ves
false.

?— evolves(=zguirtle.bla=stoise) .
false,

T— evolves({.Y). evolve=s(Y.Z).
bulba=zaur.

1vySaur,
VEnuUSaur
caterpie.
netapod,
butterfree ;
charmander.
charmeleon.
charizard
poliwag,
polivhirl,
poliwrath
squirtle,
wartortle,
blastoisze
alse.
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T— evolves({.Y) evolves(Y.Z) . vritel(l —: Z).nl.fail.
bulbazaur——:venusaur

caterpie—rbutterfres

charmander——:charizard

polivag—:polivrath

zquirtle—:rblasztoise

false.

T— pokemon{hamnse(H). .. _J.write(N).nl.fail.
pilachu
raichu
bulba=zaur
1vy=aur
VEnuZaur
caterplie
netapod
hutterfres
charmander
charmneleon
charizard
vulpix
hinetail=
polivag
polivhirl
poliwvrath
squlrtle
wartortle
blaztoi=ze
=tarvu
starmnie
false.

?— pokemon{namnse(H) . fire, . ). write(H).nl.fail.
charmander

charmneleon

charizard

vulpix

hinetail=

false.

T— pokenoninams(H) . K._._i.writef 'nks{namse( ') . wvrite{H) . vrite( ). kind{ ). wvrite(K). wvrite(')) ' ). nl. fail.
nk={namei{pikachu) . kind{electric))
tnks(nam=e(raichu) kindi{slectric))
nks(name{bulbazaur) kind{gra==))
ks (name(ivyzaur) . kind(gra=ss))
nks(name{venu=zaur ), kind{gra==s))
tks(name(caterpie) . kindigras=))
nks({name{metapod) , kind{gra==))
nks(name(butterfree) kind(gras=s))
nk={namne{charmander) . kind(fire))
nk={name{charmeleon), kind{fire))
nk=i{namne{charizard) . kind(fire))
nk={nane{vulpix). kind{fire))
nks(nam={ninetails) kind(fire))
nk={nane{polivag). kind{water))
tnks(nams({polivhirl ), kind(water))
nk={nane{polivrath) kind{water))
nks(nam=e{=quirtle) kind{water))
nks(name{wartortle), kind{water))
tks(name(blastoise) kind(water))
nks({name{starvu), kind{water))
tks(name(=tarmnie) . kind({water))
false.



?— pokemoni{name(H)._._.attacki{waterfall._ )).
H = wartortle ;
false.

T— pokemoninanse(H),_._.attack({poizon-powder._ 3.
H = venu=aur
false.

T— pokemoni_ . water,_.attackii. _)) write(d).nl.fail.

water—gun
anheszia
dashing—punch
bubble
waterfall
hydro—pumnp
=lap
ztar-fresze
false.

T— pokemnoninanse(polivhirl), . hpi(HP)Y,_ 3.
HE = &0.

T— pokemnoniname(butterfre=)._ hp(HP)._ 3.
HF = 130.

?— pokemon{namse(H)._ . hp(HP). 1. HP:85.
H = raichu.

HEF = 90 ;

H = wenu=zaur.
HEF = 140 ;

H = butterfrees.
HF = 130

H = charizard,
HF = 170

H = ninetails,
HF = 100 ;

H = poliwrath.
HEF = 140 ;

H = blastoise.
HEF = 140 ;
false,

?— pokemon{nams(H). . . attack({_.Dy)., D:al.
H = raichu.

D = 90

H = wenusaur.

D = 70 :

H = butterfrees.
o= 80 ;

H = charizard.
o = 100

H = ninetails,
D = 120
false

P— cenil) ., polkenon{nanse(H), _ hp(HP), ). write(H).vritel:

pikachu: il
bulbasaur: 40
caterpie: 50
charmander 50
valpix: 6l
poliwvag: 60
squirtle: 40
starvu:40
falze.

V.write{HP).nl.fail.



More Code:

display_cen :- cen(N),write(N),nl,fail.

display_not_cen :- evolves(X,Y),write(Y),nl,fail.

generator(N,T) :- pokemon(name(N),T,_, ).

display_names :- pokemon(name(N),_, , ),write(N),nl fail.

display_attacks :- pokemon(_,_,_,attack(A,_)),write(A),nl,fail.

display_cen_ attacks :- cen(N), pokemon(name(N),_,_,attack(A,_)),write(A),nl,fail.
indicate_ attack(N) :- pokemon(name(N),_,_,attack(A,_)),write(N -> A),nl,fail.
indicate_attacks :- pokemon(name(N),_,_,attack(A,_)),write(N -> A),nl fail.
powerful(P) :- pokemon(name(P),_,_,attack(_,D)), D>55.

tough(P) :- pokemon(name(P),_,hp(HP),_), HP>100.

awesome(P) :- powerful(P), tough(P).

powerful_but_vulnerable(N) :- pokemon(name(N),_,hp(HP),_), powerful(N), HP<101.
type(P,T) :- pokemon(name(P),T,_, ).

dump_kind(K) :-
pokemon(name(N),K,hp(HP),attack(A,D)),write('pokemon(name('),write(N),write('),"),

write(K),write(',hp("),write(HP),write('),attack("),write(A),write(',"),write(D),write('))"),nl
Jfail.

family(X) :- write(X),write(' ), evolves(X,Y), write(Y), write(' ), evolves(Y,Z), write(Z).

families :- cen(X), write(X),write(' ), evolves(X,Y), write(Y), write(' ), evolves(Y,Z),
write(Z), nl, fail.

lineage(N) :- pokemon(name(N),T,HP,A), write(pokemon(name(N))),write(',"),
write(T),write(',"), write(HP), write(',"), write(A), write(')"), nl,



evolves(N,NN), pokemon(name(NN),TT,HPP,AA),
write(pokemon(name(NN))),write(',"),

write(TT),write(',"), write(HPP), write(',"), write(AA), write(')"), nl,
evolves(NN,NNN), pokemon(name(NNN),TTT,HPPP,AAA),
write(pokemon(name(NNN))),write(',"),

write(TTT),write(',"), write(HPPP), write(',"), write(AAA), write(')"), nl.



Demo: //note, some predicate descriptions are inconsistent with the demo provided
by the prof, for example in the demo, generator only shows cen for some reason, and
takes only variables, not names, as a parameter. Also, spelling inconsistencies. So I just
what seemed to make the most sense case by case

?— displav_cen.
pilkachu
bulba=zaur
caterpie
charmander
Tulpix

poliwag
=quirtle
ztarvu

falze.

?— displav_not_cen.

raichu
1vy=aur
VENUSaUr
metapod
bhutterfree
charmeleon
charizard
ninetails
poliwhirl
poliwrath
wartortle
bhlastoi=e
=tarmnies
falze.

?— generator{Name.fire).

Hame = charmander

Hame = charmeleon
Hame = charizard ;
Hame = wvulpix
Hame = ninetails.

?— generator({NHame, water) .

Hame = poliwag
Hame = poliwhirl
Hame = poliwrath
Hame = =guirtle ;
Hame = wartortle
Hame = bhlastoi=e
Hame = =starwvu ;
Hame = =tarmie.

?— generator(Name.gras=s).

Hame = bulba=zaur ;
Hame = 1iwvys=aur ;
Hame = wenusaur
Hame = caterpie |
Hame = metapod
Hame = butterfree.

?— generator({Namne. electric).

Hame = pikachu
Hamne raichu.

?— generator{pikachn, electric).
true

?— generator{bulbazaur. selectric) .
falzse.

?— generator{bulbasaur,gras=s).
tru=

?— display_names.
pilkachn
raichn
bulba=zaur
1vy=aur
vEnUSAUL
caterple
netapod
butterfres
charmander
charmeleon
charizard
vulpix
ninetalils
poliwag
poliwhirl
poliwrath
z=quirtle
wartortle
hlastoli=e
=ztarvu
starmnie
falze,

?— display_attacks.
gnaw
thunder—shock
leech—=e=d
vine—whip
polzon—powvder
granw
ztun—=spore
whirlwind
scratch

=lash
royval-blaze
confuse—-ray
fire-blast
water—gun
amnhesia
dashing-punch
bubble
wvaterfall
hydro—punp
=lap
star—fresze
falze.



?— displav_cen_attacks.
qnaw

leech—=zeed

gnaw

=cratch

confuse—-ray

water—-gun

bubble

=lap

false.

?— indicate_attack{charmander).
charmander-:=scratch
falze.

?— indicate_attacki{bulba=saur).
bulba=zaur-:leech—=seed
false,

?— indicate_attacks.
pikachu-:>gnaw
raichu-:thunder—-shoclk
bulba=zaur-:leech-=sed
ivysaur—rvine—whip
TENUSAUr—rpol=on—powder
caterple—r>gnaw
netapod-rstun—=spore
butterfree—:whirlwind
charmander-:=scratch
charmelecn-r=slash
charizard-:roval-blaze
TiulpiE-roconfuse—rav
ninetails-:fire-blast
poliwag—-:water—gun
poliwvhirl-:amne=sia
poliwrath—:dashing—punch
=quirtle-:bubble
wartortle-:waterfall
blastoi=ze-rhydro-punp
=tarvu—-r=lap
s=tarmnie-:star—-freeze

false.

?— powerful (Hame) .
Hame = raichu ;
Hame = wenu=zaur ;
Hame = butterfree ;
Hame = charizard
Hame = ninetail=s ;
Hame = wartortle ;
Hame = bhlastoi=e
false,

?— tough({Hame) .

Hame = wvenu=zaur ;
Hame = butterfrees
Hame = charizard ;
Hame = poliwrath ;
Hame = blastoise

-

false.



T— awe=zone(Hane) .

Hame = wenu=zaur ;

Hame = butterfree ;

Hame = charizard

Hame = bhlastoi=e ;

false.

?— powerful_but_vulnerablei{Hanes) .
Hame = raichu ;

Hame = ninetail=s

Hame = wartortle

falze.

T— typei(=gquirtle, Type).
Type = water.

T— typel{caterpie, Type).
Type = grass.

7— tyvpe(Hane, fire) . write(Hamne).nl. fail.
charmander

charmeleon

charizard

vulpix

ninstails

falge.

P— dump_kindi{water).
pokemnon(nanse{polivag)  water hpl(6l) . attacki{water—gun, 30))
pokenon{nane{polivhirl), wvater hp(80). attacki{anne=zia, 30))
pokemnconi{namne{polivrath), water hp(l40),attack{dashing—punch, K 50))
pokemnon(nans{=quirtle) wvater hp(40) . attack({bubble, 1033
pokenoninane{wvartortle) . wvater hp(80) . attack{waterfall . 60))
pokemnoni{nane(blastoi=e)  water hp(l40) . attack(hvdro—pumnp, 6033
pokenoninane{starvu) . water. hp(40) , attack{=lap. 20))
pokenon(nane(=tarnie)  water hpl(el) . attackistar—free=ze. 20])
false.

Y— dump_kindi{gras=s).
pokemon(namns{bulbasaur ), grass. hp(d40)  attack(leech—=eed,. 20))
pokenon{nanefivysaur ) . grass, hp(60) , attack{vine—whip,. 30))
pokemnon (namne ( venusaur ), grass. hp(140) , attack(poison—powder, 70))
polkenoninane{caterpie).grass, hp(&t0), attack{gnaw, 20))
pokenon(hane(mnetapod)  grass. hp(70)  attack{stun—=spore. 207)
pokemnon{nane{butterfrese) . gras=s hp(l130).attack{wvhirlwind, 8033
false.

P— familv(pikachul.
pilkachu raichu
falze.

?— familvy(bulba=saur).
bulba=zaur ivy=aur venus=aur
true.



- familvi(caterpie).
caterpie metapod butterfres
true.

?— families.

pikachu raichu bulbasaur ivy=szaur venusaur
caterpie metapod butterfres

charmander charmeleon charizard

vulpix® ninetails poliwag poliwvhirl poliwrath
=quirtle wartortle blastoise

=taryu starmie

false.

?— lineagei{pilkachu).
pokemnon{namne{pikachul ). electric. hp(60) . attack{gnaw,10))
pokenoninane{raichul).electric hp(90) ., attack{thunder—-=shock, 9033
false.

?— lineage{sguirtle).
pokemnon({namne{=quirtlel ). wvater hp(d0), attack(bubble,l10))
pokemnon(nanse{wartortlel ). water hp(80). attack{wvaterfall.6l]})
pokenoninane{blastoise) ) .wvater hp(140) . attack{hydro—punp.&0))
true.

?— lineage(wartortle).
pokemnon(nanse{wartortlel ). wvater hp(80). attack{wvaterfall.6l))
pokenoninane{blastoise) ) .vater hp(140) . attack{hydro—punp,. &60))
false.

?— lineagei{blastois=se).
pokemnoni{nane(blastoli=ze) ). wvater hp(l140).attack{hvdro—-pumnp, 6033
false,

?— lineage(charmander) .
pokenon{namne{charmander)).fire hp(50) . attacki{=zcratch,10))
pokemnon({namne{charmeleon) ). fire. hpi(d0).attack({=slash, 50))
pokemnon(nane{charizard) ). fire hp(l7?0).attack{roval-blaze.  100))
true.

12 More Pokemon:

cen(asshopper).
cen(bellyfish).
cen(flame-ignon).
cen(electickle).

evolves(asshopper,circumlocust).
evolves(circumlocust,cricketeer).
evolves(bellyfish,medusadeck).
evolves(medusadeck,tentaclean).
evolves(flame-ignon, combusticles).
evolves(combusticles, californius).
evolves(electickle,electrickle).
evolves(electrickle,electoral).



pokemon(name(asshopper), grass, hp(70), attack(fart, 30)).
pokemon(name(circumlocust), grass, hp(90), attack(devour, 130)).
pokemon(name(cricketeer), grass, hp(110), attack(jiminy-cricket, 200)).

pokemon(name(bellyfish), water, hp(60), attack(belly-flop, 30)).
pokemon(name(medusadeck), water, hp(90), attack(flood, 40)).
pokemon(name(tentaclean), water, hp(130), attack(sting, 50)).

pokemon(name(flame-ignon), fire, hp(50), attack(grill, 10)).
pokemon(name(compusticles), fire, hp(100), attack(combustion, 60)).
pokemon(name(californius), fire, hp(140), attack(wild-fire, 160)).

pokemon(name(electickle), electric, hp(40), attack(tickle, 20)).
pokemon(name(electrickle), electric, hp(60), attack(trickle, 50)).
pokemon(name(electoral), electric, hp(80), attack(election-fraud, 70)).



Demo with new pokemon:



?— displav_cen.

pilkachn
bulba=zaur
caterpie
charmander
vialpix
poliwag
z=quirtle
starvu ?— generatori{Name, gra=s=s).
a=shopper Hame = bulbasaur ;
bellvfi=h Hame = ivy=zaur
flame—ignon Ham=e = wvenuszaur
electickle Ham=e = caterpie :
falzse. Hame = metapod ;
Hame = butterfres
?— di=splay_not_cen. Hame = asshopper ;
raichu Hame = circumlocust |
iwy=aur Hame = cricketesr.
wEnu=aur
metapod ?— generatori{Name.electric).
butterfree Hame = pikachu ;
charmeleon Ham= = raichu
charizard Ham=e = electickle
ninetails Ham= = electrickle
polivhirl Hame = slectoral.
poliwrath
wartortle ?— display_names.
blastoi=e pikachu
starmie raichu
circumnlocust bulbasaur
cricketesr ivy=zaur
nedusadecl: vELUSaUr
tentaclean caterple
combusticles netapod
californius butterfrees
electrickls charmander
electoral charmeleon
false. charizard
viilpix
?— generator(Name, fire). ningtails
Wame = charmander ; poliwvag
Hame = charmeleon ; polivhirl
Hame = charizard ; poliwrath
Hame = wulpiz ; zquirtle
Hame = ninetails | wartortle
Wame = flame—ignon blastoi=e
Hame = compusticles ; starvu
Wame = californius. starmnie
azshopper
?— generator({Name, water) . circumlocust
Hame = poliwag | cricketesr
Hame = poliwhirl bellyfish
Hame = poliwrath ; nedusadeck
Hame = =squirtle ; tentaclean
Hame = wartortle ; flame—ignon
Hame = blastoise ; compusticles
Hame = starvu ; californius
Hame = starmie ; electickle
Hame = bellyfish ; electrickle
Hame = medusadeck ; electoral
Hame = tentaclean. false.



?— displav_attacks.
gnaw
thunder—=shoclk
leech—=eed
vine—whip
polzon—povder
gnaw
stun—spore
whirlwind
=cratch

=la=sh
roval-blaze
confuse—rav
fire-hla=t
water—gun
annesia
daszhing-punch
bubble
waterfall
hydro—punp
=lap
star—freeze
fart

devour
jiminv—cricket
belly—flop
flood

=ting

grill
combustion
wild-fire
tickle
trickle
election—fraud
false,

?— displav_cen_attacks.
gnaw
leech—=ead
graw
=zcratch
confuse—rav
water—gqun
bubble

=lap

fart
belly—flop
grill
tickle
false.

?— indicate_attaclki{b=llyiish).

bellviish-:bellvy-ilop
falze.

?— indicate_attaclk{asshopper).

azshopper—:fart
false.

?— 1indicate_attacks.
pikachu-rgnaw
raichu-:thunder—shoclk
bulbazaur-:leech-=seed
ivysaur—rvine—whip
TENUSAUr—>pol=0on—povder
caterpie—rgnaw
mnetapod-rstun—spore
butterfrese—swvhirlwind
charmander-:scratch
charmeleon—:=la=h
charizard-:roval-hblaze
villpiEx—rconfuse—ray
ninstalls—:fire-hla=st
poliwag—rwater—gun
polivhirl-ramnesia
poliwrath—:>dashing—-punch
squirtle-:bubble
wartortle—rwaterfall
bla=stoisze—:hydro—punp
ztarvu—:=lap
starmie—-rstar—fres=e
azshopper—:fart
circumlocust-:devour
cricketesr—>jiminy—cricket
bellvfish—-:bellv-£flop
mnedu=zadeck—:£f lood
tentaclean—:>=ting
flame—ignon—>grill
compusticles—r>combustion
californius-:wild-fire
electickle-:tickle
electrickle—:triclkle
electoral-relection—fraud
false.

?— powerful (H).
raichu ;
vEnuUs=aur |
butterfree
charizard
ninetail=s
wartortle
blastoize
circumlocust
cricketesr
compusticles
californius
electoral .

L

L

L
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toughi{H}.

vEnuUs=aur |
butterfree
charizard
poliwrath
blastoi=ze
cricketesr
tentaclean
californius ;

L

L
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]
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T— aweszom=(H) .
VENUSauUr |
butterfres
charizard
blastoi=se
cricketeesr
californius
falze.

"
-

-

r

r
-

EEEEEE
nonononon

-

?— powerful_but_wvulnerable(H).
raichu
ninetails
wartortle
circumlocust
comnpusticles |
electoral .

-

EEmEmEEE

?— typef{asshopper.T).
T = gra==.

?— typef{bellviish.T).
T = water.

?— type{Name.fire).write(Hame) . nl, fail.
charmander

charmneleon

charizard

Tulpix

ninetail=

f lame—-ignon

conpusticles

californius

falze.

?— dump_kindi{water).
pokemnon(nanse{polivag) , water, hp(6l), attacki{water—gun, 30))
pokenon{nane{polivhirl), wvater hp(80). attack{anne=zia, 30))
pokemnon(nane{polivrath), water hp(l140),attack{dashing-punch,h&50))
pokemnon(nanse{=zquirtle) . wvater hp(d40), attack({bubble, 1033
pokenoninane{wartortle).vater hp(80) . attack{waterfall . &0))
pokemnoni{nane{blastoi=ze) . wvater hp(l40).attack{hvdro-pumnp, 6033
pokenoninane{starvu) . wvater.hp(40) ,attack{=slap. 20))
pokenon(nanse({=tarnie) . wvater hpl(el) . attackistar-freseze. 201
pokemnoni(nanse{bellyfizh), water hp(60) . attack(belly—flaop. 30))
pokenon{nane{nedusadeclk) . vater hp(90) . attack{flood, 40))
pokemnon(namnel tentaclean) . water hp(130).attacki{=sting,50))
false.

?— dump_kindi{fire).
pokenoninane{charmander),fire hp(50) . attacki{=zcratch,. 103}
pokemnon(namne{charmeleon) . fire hp(80) . attack({=lash, 5033
pokemnon(nans{charizard) . fire hp(l170) . attack({roval-blaze,. 1003
pokenon{nane{vulpix),.fire . hp(el), attack{confuze—-ray, 2033
pokemnon({nanei{ninetail=s) . fire hp(l00) . attack({fire-bla=st,1203)
pokemnon{namne( f lame—ignon) . fire. hpi(50).attack({grill, 10))
pokenoni{nane{conpusticles).fire hp(l00) . attack{conbustion,. 60))
pokemnoni{namne{californius) . fire hp(l40).attack(wild-fire. 1603)
false,



?— familvi{asshopper).
azshopper circumlocust cricketesr
true.

?— familv(bellyfish).
bellvfi=h medu=s=adeck tentaclean
trus.

P— familvielectickle).
electickle electrickle slectoral
trus.

- families.

pilkachu raichu bulba=zaur ivy=aur wenusaur
caterpie metapod butteriree

charmander charmeleon charizard

vulpiz ninetails poliwag polivhirl poliwrath
=quirtle wartortle blastoise

=tarvu =tarmie asshopper circumlocu=st cricketeer
bellyfi=h medusadeck tentaclean

flame—-ignon combusticles californius
electickle electrickle electoral

falze.

?— lineageielecticlkle).
pokenoni{nane({electickle) ). electric, hp(d40) , attacki{tickles, 2033
pokemnon(nane{electrickle)) . electric hpl(6l) attack{trickls,50))
pokenoninane{electoral)).electric, . hp(d0), attacki{election—fraud,70))

true.

?— lineage(bellvii=sh).
pokemnon(namne(bellyvfizh) ). water hpi(6l).attack(belly—£flop, 3033
pokenon {nane {medusadecl. ) ) . wvater hp(90) . attack{flood, 4033
pokemnon(namne tentaclean) ). water hp(l130) . attacki{=ting,. 5071}
true.

Task 2:

Code:

first([H|_1, H).
rest([_|T], T).

last([H|[1], H).
last([__|T], Result) :- last(T,Result).

nth(o,[H|_],H).
nth(N,[_|T]E) :- Kis N - 1, nth(K,T,E).

writelist([]).
writelist([H|T]) :- write(H), nl, writelist(T).



sum([],0).
sum([Head|Tail],Sum) :-
sum(Tail,SumOfTail),
Sum is Head + SumOfTail.

add_ first(X,L,[X]|L]).

add_last(X,[1,[X]).
add_last(X,[H|T],[H|TX]) :- add_last(X,T,TX).

iota(o,[]).

iota(N,IotaN) :-

KisN -1,

iota(K,IotaK),
add_last(N,IotaK,IotaN).

pick(L,Item) :-
length(L,Length),
random(o,Length,RN),
nth(RN,L,Item).

make_set([]1,[1).
make_set([H|T],TS) :-
member(H,T),
make_set(T,TS).
make_set([H|T],[H|TS]) :-
make_set(T,TS).

Demo:



?— fir=st([apple] . First).
First = apple.

Y= first([c.d.e.f.g.a.b].P).
F =c.

?— rest{[apple].Rest).
Fest = [].

?— rest{[c.d.e.f.g.a.b].Re=st).
Re=t = [d. =. f. g. a. b].

?— last{[peach].Lla=st).
La=t = pe=ach

?— last({[c.d.e.f.g.a.b].P}).
F==5L .

?— nthil, [zero.one. two, thres, four] . Elenent ) .
Element = zero

?— nthii, [four, thres, tvo,one, zeroc] . Elenent ) .
Element = one

?— writelist({[red,vellow, blue, green, purple, orangs] ).
red

vellow

blue

gresn

purple

orangs

trus=.

P— =zumi{[].S5uam).
Sum = 0.

P— zumi{[2.3.5.7.11].5un0i{Primne=) .
SunOfPrimes = 28,

?— add_firstithing.[].RFesult).
Fe=zult = [thing].

?— add_firsti{racket.[prolog. haskell rust].Languages) .
Language=s = [racket. prolog, haskell, rust].

?— add_lasti{thing.[].Fesult).
Result = [thing]

?— add_lasti{ru=st, [racket.prolog. haskesll] . Languages=s) .
Languages = [raclket, prolog, haskell., rust]

?— i1otal(t, Iotab).
Iotat = [1, 2, 3., 4, §]

P— iota(9, Iotad).
Iota9 = [1, 2, 3. 4, 5. 6, 7, 8, 9]

?— piclk{[cherry.peach.apple,blusberrvy] . Fie).
Fie = cherrv



?— pick{[cherrv.peach.apple.blusberry].Fie).
Fie = cherrv

?— pick{[cherrv.peach.apple.blusberry].Fie).
Fie = cherrv

?— picki[cherrv.peach. apple. blusberrv].FPie) .
Fie = apple

?— pick([cherrv.peach.apple. blusberrv].Fiel.
Fie = apple

?— picki[cherrv. peach. apple, blusberrv].Fie).
Fie = cherrv

?— pick([cherrv.peach.apple. blusberrvy].Fiel.
Pie = blueberrv

?— pick([cherrv.peach.apple. blusberrv].Fie).
Pie = peach

?— pick{[cherrv.peach.apple.blusberrv].Fie).
Fie = cherrv

7— make ==t([1.1.2.1.2.3.1.2.3.4].5et).
Set = [1. 2. 3. 4]

?— malke_set{[bit.bot.bet bot.bot.bit].B).
E = [bet., bot, bit]



